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	Assignment No. 01
Semester: Spring 2019
CS607: Artificial Intelligence

	Total Marks: 20

Due Date:14/05/19

	Question No. 1

Given the following graphs convert it into tree data structure.

A) In the following graph consider node 1 as your starting point
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Answer


B) In the following graph consider node b as your starting point.
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Answer: 


Question No. 2

Consider the search space below, where 1 is the start node and 10 is goal node. Show with the sequence of steps along with table displaying how does DFS work on given tree using simple search algorithm.
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Answer:
Q

Visited

A

1

1

B

2,3

1,2,3

C

4,5,3

1,2,3,4,5

D

8,5,3

1,2,3,4,5,8

E

5,3

1,2,3,4,5,8

F

9,10,3

1,2,3,4,5,8,9,10

G

10,3

1,2,3,4,5,8,9,10

H

3

1,2,3,4,5,8.9.10
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